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Earth Hour
319 IR

Indian National Army
g e Wi

Wahabi Movement
IgEl ARG

Sohrai Art

s el

Growth of Vocational Education in th
State of Jharkhand ,

TEVE TST | GG IBTHAl $1 e

Descriptive Statistics

fyavoreres Giferdt

Use of different kinds of Graph for
Analysis
favdvor ¥ i yR & TRt @ 3w

SECTION—A
Q|ugs—h

Write a brief note on the Cabinet
Mission. 20

Ffe finm | & dfdw Roht ford)

Throw light on the Young Bengal
Movement. 20

1 S AR 9T T |
( Continued )

(11 )

(b) Show the following data by duo-

(c) Show the following data by deviation
bar diagram : . 10
freifere vt B fraem que-fas g0 TegE R - .

Balance of Trade
SR G

(in "000 Rs/’000 %o H)
Year Exports | Imports | Balance

¥ fata T qgerq
+ -

2001 24 9 12 | —
2002 115 92 23 | —
2003 84 92 — 8
2004 110 120 — | 10
2005 130 183 — | 47
2006 162 187 — | 25

12Y—4000/11 ( Turn Over )

directional bar diagram : 10
e gt = -feen qve-fm g0 e
(in "000 Rs/’000 %o H)

Year | Gross Income | Expenses | Net Income
af B AT = Ree s
2005 12 5 7
2006 13 5 8
2007 16 6 10
2008 23 8 15
2009 27 12 15
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(4) (9)

(ii) Chanda Kochar (b} Represent the data of profit of three
T T . companies by multiple bar diagram : 10
. & wrafil & @ % wnel @ gl gue-fam
(iii) Carlos Slim Helu TR TR
W&, Year Profit (in '000 Rs)
(iv) Ralph M. Steinman a5 1 ('000 %o F )
Te® o & Company (F77)
A B C
(v) Homai Vyarawala
2005-06 120 95 90
EE ST 2006-07 | 135 | 130 | 95

2007-08 | 140 145 | 108
2008-09 | 160 150 | 120

6. (a) Why have the following places been in 2009-10 | 175 | 160 | 130
news recently? . 20 N :
efeigd I B @ # = a & 97 « i (¢ From the following data, prepare
) Abbottabad , « histogram and determine the mode : 10
Y o e vt @ atgi o s agere Fufor 1
T
Age No. of deaths
{iij Porthrapur = geg 9 v
n:w:mﬁ 04 270
5-9 425
(iij) Sukma 10-14 616
ghHT 15-19 939
20-24 881
[ 25-29 579
(iv) Tomsk o 579
T 3544 591
45-54 456
(v) Sibsagar 55-64 275
BEETR 65-74 141
75 and above (9T 31feeR) 45
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(6)

(iii) Tribal Festivals of Jharkhand
PREUE F TSI I

(iv) Madhubani Painting
nyat feswen

(v) Jaipur Literature Festival

AR uifge wgewa

SECTION—C
FqUE—IT

8. (a) Represent the following expenditure
data of two families by two-dimensional

diagram : 10
R giErt ¥ i =@ wiwt @) f3-fedg fe
FRT TgA
Items Family-A Family-B
b (Income Rs 5,000) (Income Rs 8,000)
TReam-A gRan-B
( 3T 5,000 %o) ( 3™ 8,000 o)
1. Food/®S" 2,000 2,500
2. Clothings/a& 1,000 2,000
3. Housing/"9®H 800 1,000
4. Fuel/3u= 400 500
5. Miscellaneous 800 2,000
fafaw
5,000 8,000

12Y—4000/11 ( Continued )

(7)

(b) For the data given below, draw ‘less

than’ and ‘more than’ ogive curves and

hence find the value of median : 10
= el @ vt 8 smefvl @ el §W
FPHAET % AUR W g g 9 B R
R AfeEn & fufo =1
Weekly Wages (in Rs) No. of Workers
amIe® gorgdt (o ®) TSl # aET
Less than 20/ 20 ¥ &0 41
3 2 A.O\ 40 1 92
w60/ 60 »» 156
» » 80/ 80 » » 194
b2 4 2 ﬁOO\Hoo 2 MOH

Show the following data by means of a
suitable angular diagram : - 10

2 7 gEl B 39S gaEve o g wgd W+ ¢

Production of Tea, Cocoa and Coffee
T, FIHIAT TF FIH FT IAET

Tea . 3260 ton (27)
T
Cocoa 1850 »
FARIT
Coffee 900 »
FHh
12Y—4000/11 ( Turn Over )



